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BF =Bk M75 | 6.42 | 14| 12-1183 |/t #RZEh B |78 F&E | +0.8 BFIE
BF =k M80 7.22 | 14iI| 14-0836 |—# IEA 5| 82 | #H)Il | +2.1 |az7moi-0.7)| BFHE
BF R M25 | 9.61 | 14iI| 12-1300 |EA At B 129 FE [7.26kg Hefoe=
Br A% M25 | 9.44 | 2f1| 12-1302 | {BF 5B | 25| FE |[7.26kg EFIE
BF R M25 | 9.43 | 3fz| 12-1302 | {EF 5B |25 FE [7.26kg Hefoe=
Br A% M25 | 9.13 | 44| 12-1300 |EA #htH 5|29 | FE |[7.26kg EFIE




BFrENE M25 7.61 | 54| 12-1794 | =32 =£#4 5|29 | FE |[7.26kg EFiE
R IPE M25 | 6.78 | 6fif| 12-1811 | KiE R % | 28| FE |7.26kg BFIE
BFENE M40 | 8.11 | 14| 12-1558 |l &— £ 41| FE |7.26kg Hafie=
R IPE M40 7.70 | 24iI| 12-1162 |#& Bz 5B |42 | FE [7.26kg Hefo =
BFrENE M40 | 6.92 | 3fi| 12-1162 |#& BZ E 42| FE |7.26kg EFiE
R IPE M40 | 6.58 | 47| 12-1793 |tEME 1E&E % | 43| FE |7.26kg BFIE
BFrENE M45 | 9.04 | 17| 13-3863 |=F& 3P % | 45| ER |7.26kg EFiE
R RIIPE M50 | 10.02 | 1fI| 21-1444 |HEH =S 5 | 52| &R |6.0kg BFIE
BFrENE M50 | 9.93 | 2i7| 12-1360 |5#EF —3% £ | 52| FE |6.0kg Hafe=
Brraf% M50 | 9.57 | 3f7| 12-1360 |##%F —3 5B |52| FE [6.0kg BFIE
BF A% M50 | 8.97 | 44i7| 11-1162 | & B | 50| #E |6.0kg EFIE
BF % M50 | 8.43 | 5| 14-1909 |&JIl ZFH 5% | 50 | #=)Il | 6.0kg Eefo =
BF A% M50 | 8.27 | 6fiI| 14-1909 |AJIl Fs2 5% | 50 | #=)Il | 6.0kg EFIE
Brraf% M50 7.74 | 74| 11-0997 |F@E R 8 | 53| #H#E |6.0kg iRk e
BF A% M50 7.56 | 8fiI| 12-1767 |EAR KB £ | 50| FE |6.0kg Hefio e
Brrafu% M50 | 6.01 | 9fz| 13-0956 |5 f#&— 5 | 54| BR [6.0kg BFIE
BF A% M55 7.76 | 14iI| 13-1176 |2ME {XB8 5B | 57| E=R |6.0kg Hefio e
BF % M60 7.80 | 14| 12-0707 |[&AH R34 B 60| FE |[5.0kg BFIE
BF A% M60 7.72 | 2fiI| 12-1698 |I8%F {&A £ 61| FE |5.0kg Hefio e
Brrat% M60 7.50 | 3fiI| 12-1698 [ISFF {&A 5|62 FE |[5.0kg BFIE
B FII% M65 | 9.53 | 1fiI| 14-1145 |HNfE =i % | 67 | #=K/Il | 5.0kg Hefo e
Brraf% M65 | 8.79 | 2fiI| 14-1145 |hNEE =If % | 68| =/l | 5.0kg BFIE
BFRENE M70 | 11.49 | 14| 10-0381 |[H &iS B 71| #E |4.0kg EFE
Br % M70 | 10.18 | 24iI| 13-4093 |9t4d & 5|71 ER [4.0kg BFIE
BRI M70 | 8.58 | 3fi7| 12-1158 |[@A ik B |74 FE |4.0kg EFIE
Brraf% M70 | 8.35 | 4fiZ| 12-0089 |JII#A Jehf B |71 FE [4.0kg BFIE
BRI M70 | 8.20 | 54iI| 12-1158 |[@A A B |74 FE |4.0kg Hefo e
Brrat% M70 7.87 | 64iI| 12-0089 (/I8 it B |71 FE |4.0kg Hefoe=
B FII% M75 7.55 | 14iI| 12-0193 |FEK 5 £ 78| FE |4.0kg Hefo e
Brrat% M75 5.55 | 24i7| 12-0371 | K¥F %48 5|76 FE |4.0kg Hefoe=
BRI M80 | 11.31 | 1fI| 12-1029 |##42 {E# %8 |80 | FE |[3.0kg|GR,NPR | &FiE
Br % M80 | 11.09 | 24| 12-1029 |##42 {E# %8 80| FE |3.0kg [NPR Hefe=
BRI M80 7.26 | 3fiI| 13-3344 |\KRE EB& | B |81 | ER |[3.0kg EFIE
Br % M80 | 6.85| 44i7| 12-0661 |#lH E8 5|82 FE |[3.0kg BFIE
BRI M80 | 6.80 | 54iI| 13-3344 |N\AKREZE 5|81 E=R |3.0kg Hefo e
Br % M85 | 6.43 | 14| 12-0171 | &Il IfES 5 |85| FE |[3.0kg BFIE
BRI M85 | 6.23 | 2fiI| 09-0016 |=%F =ift % | 88| #A |3.0kg EFIE
Br % M85 | 6.14 | 3fI| 13-1707 |F#%F &k 5 88| ER |3.0kg Hefe=
BF M8 M25 | 27.99 | 1fi7| 12-1829 | K% H#3h 5B |26| FE [2.0kg|GR,NPR | &FiE
B7 M8 M25 | 26.90 | 2{z| 12-1300 |EA At 5129 FE [2.0kg BFIE
BF MR M25 | 25.13 | 3fi7| 12-1302 [EA {&F 5B |25| FE |2.0kg BFIE
B7 A% M25 | 22.45 | 44i7| 12-1300 |EA At 5|29 FE |2.0kg Hafe=y
BF MR M30 | 37.00 | 1fi| 20-0873 | L p&{e % |34| R¥ |[2.0kg BFIE
B7 A% M30 | 35.91 | 24i7| 20-0873 | LR [&{H 5| 34| ¥ |2.0kg Hafe=y
BF M8 M30 | 27.53 | 3fz| 08-0840 |/J\& #fiF % | 33| i |2.0kg BFIE
B7 M8 M35 | 32.15| 1fZ| 07-0608 |{kiE FH— £ |35| @8 |2.0kg EFIE
BF MR M35 | 29.53 | 2fz| 07-0608 |{k#E H— % |35| 85 | 2.0kg Hefoe=
B7 M8 M35 | 20.67 | 3fiI| 12-1262 |BA &5 5|38 FE |[2.0kg EFIE
BF MR M35 | 17.61 | 44iI| 07-0643 |86k FEZ £ |37 ®8 | 2.0kg Hefoe=
B7 M8 M40 | 25.86 | 14| 12-1417 [E:2 BA 5B 41| FE [2.0kg EFIE




BF AR M40 | 23.03 | 2fi7| 10-1014 /NIl Bz 5B |41| BB |[2.0kg EFiE
BF MR M40 | 15.36 | 3fz| 12-1558 [Nl &— 5|41 | FE [2.0kg BFIE
BF AR M45 | 35.65 | 17| 12-1134 |7 =i % |48 | FE |[2.0kg|GR EFIE
BF MR M45 | 33.84 | 21| 12-1134 |i5 =i 5|48 | FE | 2.0kg Hefo =
BF AR M45 | 26.40 | 3fiI| 13-3863 |=F 3P 5B |45| ER |[2.0kg EFiE
BF MR M45 | 22.50 | 44| 12-1150 |&tE = 5B 47| FE | 2.0kg Hefo =
BF AR M45 | 21.74 | 54| 12-1150 |&tE = £ 47| FE |2.0kg EFiE
BF M M45 | 21.36 | 6fi7| 12-1284 |iBE T=% 5| 45| FE | 2.0kg Hefo =
BF AR M45 | 21.14 | 741| 12-1284 |iBEF Fik £ 45| FE |2.0kg EFIE
BF M8 M50 | 29.38 | 1fi7| 12-1360 |##%F —3 5 |52| FE |[1.5kg BFIE
BF A8 M50 | 28.59 | 24i7| 12-1360 |$#EF —3% £ | 52| FE | 1.5kg Hefo e
B7 M8 M50 | 25.61 | 3fI| 14-1909 |&JlIl ZFH 5 | 50 | #=R)Il | 1.5kg Eefo =
BF A8 M50 | 23.32 | 44| 14-1909 |AJIl =Fs2 5% | 50 | #=)Il | 1.5kg EFIE
BF M M50 | 22.43 | 54I| 21-1444 |HEH =S 5 | 52| &R |1.5kg BFIE
BF s M50 | 21.70 | 64i7| 13-0956 |=tE fi2— 5B | 54| EE |[1.5kg EFIE
BF M M55 | 30.83 | 1fiI| 13-1176 |2HE {£EA % | 57| ER |1.5kg iRk s
BF A8 M55 | 28.35 | 2fi7| 12-1388 |LLfE & B | 57| FE |1.5kg EFIE
B7 M8 M55 | 23.38 | 3fi7| 12-1388 |lLfE] & 5 |57| FE |1.5kg iRk e
BF AR M60 | 37.35| 1fI| 14-0878 |/l 13 % | 61| #=xJIl | 1.0kg EFIE
B7 M8 M60 | 37.31 | 2fI| 14-0878 /Il 3 5 | 61| =K/l | 1.0kg Hefoe=
BF A8 M60 | 35.45 | 3fiz| 12-0725 |#K &=z £ |160| FE |1.0kg EFIE
B7 M8 M60 | 32.56 | 4fiI| 11-0507 | KF =& 5B | 64| I#E |1.0kg BFIE
BFHEE M60 | 26.94 | 5fi7| 12-1155 |[{E4 K ZFE B 63| FE | 1.0k o e
B7 M8 M60 | 21.77 | 6fiI| 12-0707 |G+ 1R3h B |60 FE |[1.0kg BFIE
BF A8 M65 | 36.19 | 14| 14-1145 |0 =i % | 67| #=/Il | 1.0kg Hefo e
B7 M8 M65 | 35.55 | 2fi| 11-0867 |3aH BBA B | 66| #&#E |1.0kg BFIE
BF A8 M65 | 34.37 | 3fz| 11-0867 ;A BBA 5B |66| HE |1.0kg Hefo e
B7 M8 M65 | 33.15 | 44| 14-1145 |0k =If % | 68| =R/l | 1.0kg BFIE
BFHEE M65 | 23.13 | 54i7| 12-1719 |fEIE &% B 68| FE |1.0kg o e
B7 M8 M65 | 22.52 | 6fiz| 11-0063 |#4E EB— %8 | 65| #HE | 1.0kg Hefoe=
BFHEE M65 | 22.45 | 74i7| 12-1719 |fEIE &5 B 68| FE |1.0kg EFHE
B7 M8 M65 | 19.89 | 8fz| 11-0063 |#4E EB— B | 65| H#E |1.0kg BFIE
BF MR M65 | 17.31 | 9fi7| 11-0397 |8H % 58| 67| H#E | 1.0kg Hefo e
B7 M8 M70 | 31.32 | 14| 11-1156 |BalE S5i# B |70| #E |1.0kg BFIE
BF MR M70 | 30.46 | 2| 10-0381 |[EME &i& B |71 85 |1.0kg EFIE
B7 M8 M70 | 29.47 | 3f| 14-1281 |=Lt BBk 5 | 72| =)l | 1.0kg Hefe=
BF M8 M70 | 27.63 | 44iI| 12-0836 |Hit = B |72 FE | 1.0kg Hefo e
B7 M8 M70 | 27.09 | 54| 12-0089 |JII#A Hehf 5|71 FE |1.0kg Hefe=
BF M8 M70 | 26.94 | 6iI| 12-0089 |JII#E HEif B |71 FE |1.0kg EFIE
B7 M8 M70 | 23.97 | 74| 12-0769 | AT BB B |71 FE [1.0kg BFIE
BF MR M70 | 21.10 | 8fiI| 12-1066 |FiA =i B | 73| FE | 1.0kg Hefo =
B7 A% M70 | 20.86 | 9fiI| 12-1158 |[@HA A 5|74 FE |1.0kg Hafe=y
BF MR M70 | 20.20 |104i7| 12-1158 |[@A A B |74 FE |1.0kg BFIE
B7 A% M75 | 20.04 | 14| 12-0059 |lLO 2B 5|78 FE |[1.0kg EFiE
BF M8 M80 | 20.64 | 11iI| 08-0461 [k & % |80 Zi |1.0kg BFIE
B7 M8 M80 | 16.67 | 2fiI| 13-3344 |\KEREEZE 5 |81| ER |1.0kg Hefoe=y
BF MR M80 | 15.50 | 3fi7| 12-0051 |#BA ¥ 5|82 FE |1.0kg EFIE
B7 M8 M80 | 15.42 | 44if| 13-3344 [/\KE RBE | B [81| H=R |1.0kg EFIE
BF MR M85 | 13.51 | 1fi7| 13-1707 |FkEF @k % | 88| HE=R | 1.0kg Hefoe=
B7 M8 M85 | 11.67 | 24i7| 12-0171 | &Il #S 5|85 FE |[1.0kg EFIE




BEFMRE M9O | 9.11 | 1fiZ| 11-0009 |Egus = 8 [91| &E |1.0kg BFIE
BEFIR-18 M30 | 44.90 | 1fiZ| 20-0873 | L/E B&fs 8 [ 34| EF [7.26kqGR EFIE
BFIR-1% M30 | 44.62 | 27| 20-0873 | L/E P& £ (34| EF |[7.26kg ey
BEFIR-18 M35 | 33.56 | 1fiZ| 07-0608 |ciE FH— 8 [35| &5 |7.26kg e
BFIR-1% M35 | 31.91 | 2fiZ| 07-0608 |{ciE F— 8|35 B8 [7.26kg BFIE
BFIN-15% M35 | 16.97 | 3| 12-1726 |R% #imh B (39| FE [7.26k| e
BFIR-1% M45 | 36.25 | 1fiZ| 12-1150 |BtE = 8|47 | FE& [7.26kg BFIE
BEFIR-18 M45 | 35.08 | 27| 12-1134 |5 ==ff 58|48 | FE&E [7.26kg EFIE
BFIR-1% M45 | 32.93 | 3fi| 12-1150 |BtE = 8|47 | FE& [7.26kg ey
BFIR-18 M45 | 27.79 | 44| 20-0484 | & & 8 (49| EF |[7.26kg iRe
BFIR-1% M45 | 27.67 | 5| 20-0484 | LfE 42 £ 49| EF |[7.26kg EFIE
BFIR-18 M45 | 24.50 | 6fiI| 12-1284 |iBF Fi% 58 | 45| F&E |[7.26kg e
BFIR-1% M45 | 22.23 | 76iz| 12-1284 [iBF TF#% 8 45| FE [7.26kg EFIE
BEFIR-18 M50 | 17.15 | 1| 13-0956 |B=tE f@— 588 (54| Z== |6.0kg iRe
BFIR-1% M55 | 40.09 | 14| 11-0702 |E=mtk = 8 [56| &E |6.0kg EFIE
BFIR-18 M55 | 38.88 | 2fif| 11-0702 |tk = 8 (55| #E |6.0kg iRe
BFIR-1% M60 | 44.10 | 11| 11-0364 |A<H B 8 [62| &HE |5.0kg EFIE
BFIR-18 M60 | 42.14 | 2fiz| 14-0878 |)II0 13 52 | 61 | ##Z)I] | 5.0kg e
BFIR-1% M60 | 37.40 | 3fiz| 12-0855 [#k ZakZ £ 64| FE |5.0kg LiRe
BEFIR-18 M65 | 21.34 | 14| 11-0397 |f@H =% 2 (67| #E |5.0k iRe
BFIN-1% M70 | 32.77 | 14| 11-1156 |B9lz S5/ B 70| #E |4.0kg EFHE
BFIUV-1% M70 | 31.96 | 2fi| 12-0572 |4 H=HZ B 72| FE |[4.0kg EFIE
BFIR-1% M70 | 30.34 | 36| 14-1281 |[=+ ®#Bx 58 | 72 | #Z)I] | 4.0kg LiRe
BEFIR-18 M70 | 23.59 | 44| 12-0769 | AT B3 8|71 F& |4.0kg BFIE
BEFIR-1% M70 | 19.02 | 54| 12-1066 |ATH £iE £ |74 FE |4.0kg EFIE
BEFIR-18 M70 | 17.19 | 64| 12-1066 |FiE £iE 8 [ 73| F&E |4.0kg iRe
BFION-1% M75 | 24.38 | 14| 12-0028 ||REF 1E# B |75 FE |4.0kg Hfeay
BEFIR-18 M75 | 23.05 | 2fi7| 12-0028 |[=8F 1E# 8|75 F&E |4.0kg BFIE
BFIR-1% M80 | 29.07 | 1fiZ| 08-0461 (T =& £ (80| g |3.0kg EFIE
BEFIR-18 M85 | 20.07 | 1fiZ| 09-0016 |=%F =it 5|88 #5K |3.0kg BFIE
BEFIR-1% M9O | 11.57 | 1fiZ| 11-0009 gl = £ 91| &E |3.0kg EFIE
BEFPDIF M-24| 31.96 | 1fi7| 12-1813 |86k FRkE 8 [ 24| F#E |800g BFIE
BFPD# M25 | 44.48 | 14| 12-1829 | K% F#35A 5 |26| FE | 800g |NPR EFE
BEFPDIF M25 | 43.05 | 27| 12-1795 |86k Rt 5 27| F#E |800g [NPR BFIE
BEFPDIE M25 | 42.02 | 3fz| 12-1752 b &= 58|29 | FE |800g [NPR LiEe
BEFPDIF M30 | 37.57 | 14| 12-1812 |%&M S 8 [32| F#E |800g BFIE
BEFPDI M30 | 36.09 | 2fiZ| 08-0840 |/J\E #E 58 33| ZH | 800g EFIE
BEFPDIF M40 | 54.88 | 17| 12-1291 |f&k =P 2 [ 42| F#E |[800g |[GR,NPR | ®Fiz
BEFPDI M40 | 54.58 | 24| 12-1291 |[f&k =P 58 41| FE |800g [NPR e
BEFPDIF M40 | 38.81 | 37| 12-1417 /B8 BA 8 [41| F# |800g iRe
BFPODIE M45 | 49.41 | 17| 13-4071 |[#cHE =75 58 46| == |800g EFIE
BEFPDIF M45 | 47.74 | 24z| 12-0832 |[BE &1 58 [48| F#E |800g iRe
BFPD# M45 | 44.29 | 3fiI| 12-1521 |HE B—EB 8 149| FE | 800g Hefreay
BEFPDIF M45 | 43.94 | 44| 12-0832 |EE &1 58 [48| F#E |800g BFIE
BFPDE M45 | 25.49 | 5fiI| 12-1233 {8 4¥s= £ (47| F#E |800g e
BEFPDIF M50 | 42.78 | 1fiZ| 14-1258 |#iH f&— 5 [ 51 | #=)Il | 700g BFIE
BFPDIE M50 | 41.69 | 24| 12-1171 |E& =— 8 [53| F& | 700g EFIE
BEFPDIF M50 | 37.13 | 3fiz| 12-1093 |AJIl = 8 [53| F& |700g iRe
BFPDIE M50 | 36.85 | 44iI| 12-1093 |AJIl & 2 (54| F# | 7009 EFIE
BEFPDIF M50 | 32.25 | 5fi| 13-0956 |=tE f@— 8[54 | %= | 700g iRe




BFPD# M50 | 32.21 | 61iZ] 12-0868 | £42 BEX % |54 FE | 7009 Hef ey
BFPD# M50 | 31.36 | 7fi| 13-0956 |&Et& fiE— B | 54| ®ER | 7009 EFIE
BFPD# M50 | 30.40 | 8fiz|] 12-0868 | £42 BEX 5 |54 FE | 7009 EFIE
BFPD# M55 | 38.50 | 1fi| 14-2183 |&&F f&=] 5 | 57| #=IJIl | 7009 EFIE
BFPDH M55 | 37.64 | 2fi| 12-1388 [lLUfE & % | 57| FE | 700g EFIE
BFPD# M55 | 36.87 | 3fi| 12-1356 |EEA X# B 56| FE | 7009 EFIE
BFPD# M55 | 36.58 | 44| 12-1388 [lLfE & % | 57| FE | 7009 He ey
BFPD# M55 | 35.01 | 5fi7| 12-1356 |EEA X# B |56 | FE | 7009 Hetreay
BFPD# M60 | 42.02 | 1fi| 12-0407 |*FE E— 5 62| FE | 600g EFIE
BFPD# M60 | 34.82 | 2fii| 11-0507 | KF =& B 64| ¥/E | 600g EFE
BFPDR M60 | 30.39 | 3fi| 12-0177 [lu5 Sl 5|61 FE | 600g Hefiz ey
BFPD M60 | 26.99 | 4fi| 28-0179 [#a5| HIE B 61| FE | 600g EFE
BFPD# M65 | 23.84 | 11i7| 13-3159 |FH)Il 1 B |169| ER |600g Hefiz ey
BFPD M65 | 16.74 | 2fi| 11-0063 [IE B— B 65| &% | 600g SiEs
BFPD# M70 | 36.31 | 14| 12-0572 [ FTEZ 5|72 FE | 5009 EFIE
BFD# M70 | 34.06 | 2fiI| 12-1066 |AIH £HiE 85|74 FE | 5009 EFE
BFPD# M70 | 23.88 | 3fiz| 13-3159 |FH)Il 1 B 70| ER |500g EFIE
BFPLOE M75 | 21.54 | 14| 14-0999 |&ZJIl &HX % | 77 | #=JIl | 5009 Hefoe=
BFPD# M80 | 18.06 | 1| 15-0244 |AJIl 1ESE 8 | 81| L& |400g EFIE
BFPOK M80 | 12.55 | 2fi| 12-0661 |HlH E& 8 |82| FE |400g EFE
BFPOE M90 5.99 | 14| 11-0009 |B9i 3R £ 91| #E | 4009 EFIE
BFEER M25 | 10.20 | 1fi| 12-1302 [BA {&F 8B | 25| FE |15.88kg|GR,NPR EFIE
BrESE M25 | 8.87 | 21| 12-1302 | {&F 5| 25| FE |15.88kg|NPR Hef e
EFEEK M25 7.85 | 3fi7| 12-1300 B #hth B (29| FE |15.88kg EFIE
BFEEH M25 7.10 | 44| 12-1300 [EA D 5|29 FE |15.88k oiFxs
BFEER M30 | 11.47 | 14| 20-0873 | LJ&E [&{# 8B |34 RE |[15.88kg BFAE
BrFEEK M30 | 10.62 | 24| 20-0873 | /& R 5 | 34| RE®F [15.88kg a5 e
BFEER M35 | 10.54 | 1fi| 07-0608 (kg H— 5 | 35| &S |15.88kg BFAE
BrFE=H M35 | 10.24 | 2fi| 07-0608 |{LfiE FH— B [35| &5 |15.88kg RS
EFEEK M40 4.65 | 1fiI| 10-1014 /NIl Bz £ | 41| BE |15.88kg EFIE
BrFEERK M45 | 10.21 | 1fI| 12-1134 |IF =Ehff 5 |48 | FIE |15.88kg EFIE
BFEER M45 9.81 | 2fiZ| 12-1150 [&EtE = 5 47| FE |15.88kg fLiFe
BrFEERK M45 9.52 | 3fiI| 12-1134 |i5 =i 5 48| FIE |15.88kg Hteay
BFEER M45 9.43 | 4fiI| 12-1150 |&Et5 = 8B |47 | FIE |[15.88kg EBFIE
BFEEH M45 6.98 | 57| 12-1284 |iBE Fi% B 45| FE |15.88kg EFE
BFEER M45 6.93 | 6fiI| 12-1284 [iBF Fi% 5 45| FE |15.88kg fLiFe
BrFEERK M45 6.92 | 7fiI| 13-3863 [=fm HFB 5 | 45| EIR |15.88kg EFE
BFEER M45 5.28 | 8fiI| 12-1568 |#fE 1E&Y 8 | 48| FIEE |[15.88kg EBFIE
BrFEERK M50 8.21 | 14| 14-1909 (&l ZF$ 5 | 50 | #5311 |11.34kg s
BFEER M50 7.32 | 24iI| 14-1909 |G)Il =EF$ 5 | 50 | f=1] |11.34kg EFIE
BFEEH M50 6.15 | 3fiI| 12-1360 |fH%F —= 5 |52 FE |11.34kg BFIE
BrEERK M50 5.89 | 44I| 12-1360 |f#@EF —3= 8B | 52| FE ([11.34kg s
BrE=H M55 | 11.54 | 14| 11-0702 |EBHK = B | 55| \E |[11.34kg iRe
BrEERK M60 | 15.06 | 1fiz| 14-0878 |)IIO 5 B | 61| =1l [9.08kg Ht o=y
BFEEH M60 | 11.53 | 2fi7| 28-0179 (AR5l #RIE B 61| FEE |9.08kg EFIE
BrEERK M65 7.87 | 1fI| 11-0397 |f&H % 5 67| ¥E |9.08kg Ht o=y
BrEER M70 | 14.15| 14I| 10-0381 [[EH E&iE 5|71 #E |7.26kg EFIE
BrFrE=E M70 9.97 | 2fiZ| 14-1281 (= BBk B | 72| M=) [7.26kg iFs
BFEEH M70 8.97 | 3fiZ| 12-0089 |/II#A Jehf B |71 FE |7.26kg EFIE
BrEERK M70 8.84 | 44| 12-0089 |JIIFE Jekf B |71 FE |(7.26kg Ht o=y




EFEEK M70 | 8.31 | 54iI| 12-1066 |FiEH =HiE £ |74 FE |7.26kg EFiE
ErE=i% M70 7.95 | 64iI| 12-0769 | AT BR B |71 FE |[7.26kg BFIE
EFEEK M70 7.26 | 71| 12-1066 |giH =HiE B |73 FE [7.26kg Hafie=
ErE=i% M75 | 9.70 | 1fI| 12-0028 |[R%F 1E#E B | 75| FE |7.26kg|NPR Hefo =
EFEEK M75 7.58 | 2fiI| 12-0028 |[REF 1E#E % | 75| FE [7.26kg EFiE
ErE=i% M75 | 6.13 | 3fz| 12-0371 | K%F 43 B |76 FTE [7.26kg Hefo =
EFEEK M80 | 10.14 | 1fI| 08-0461 Ak FHEE % | 80| ik |5.45kg EFiE
ErE=i% M85 | 10.33 | 1fiZ| 09-0016 |=%F =it 5% | 88| #pAK |5.45kg|GR BFIE
ZF60m W35 | 9.70 | 14| 12-1747 |AlL £ 7 |38| FE | 0.0 |[NPR Hefoe=
ZF60m W45 | 9.85 | 1fz| 12-1573 |FH BF 7|49 FE | 0.0 Hefo e
ZF60m W45 | 9.89 | 27| 12-1325 |IxK H=E 46| FE | 0.0 Hefoe=
ZF60m W50 | 9.46 | 1fiI| 12-1495 |%H R |52 FE | 0.0 Hefo e
ZF60m W50 | 9.66 | 2fiI| 12-1495 |4H R | 52| FE | -0.8 BFIE
ZF60m W50 | 9.67 | 3fz| 12-1573 |&FH BF | 50| FE | -0.8 EFIE
ZF60m W50 | 9.74 | 44iI| 14-1003 |[#2H &<H | &2 | 53 | @RI | -0.8 BFIE
ZF60m W50 | 9.77 | 54| 14-1003 |#2H &<#H | &z |53 | ®FK/l| 0.0 Hefio e
ZF60m W50 | 10.05 | 64| 14-0988 |/\&¥ #0F iz | 53| #®RJII| 0.0 Hefoe=
ZF60m W50 | 10.74 | 74| 12-1835 |[IlLA BF | 51| FE | -0.8 EFIE
ZF60m W50 | 10.82 | 8fz| 12-1094 |&JIl Efs | 53| FE | 0.0 Hefoe=
ZF60m W50 | 10.95| 94\| 12-1830 (lLA #®F Z |50 F%E | -0.8 EFIE
ZF60m W55 | 9.75 | 1f1| 22-1124 |A)Il EF iz | 58| X | -0.3 BFIE
ZF60m W55 | 10.00 | 24| 11-0414 |E BT i | 55| #E | -0.6 Hefo e
ZF60m W55 | 10.26 | 3| 14-1706 |BAF HMF | &2 | 59 | #=)ll | -0.6 Hefoe=
ZF60m W55 | 10.66 | 47| 12-1717 (lLA HF Z |58 F%E | -0.3 EFIE
ZF60m W55 | 10.72 | 57| 12-1717 [lLA HF 7 | 58| FE | -0.6 Hefoe=
ZF60m W55 | 10.84 | 6fi7| 12-1739 |®f§ =MF | L [ 58| FE | -0.6 Hefo e
ZF60m W55 | 10.85 | 74| 12-1739 |5 =MF | & [ 58| FE | -0.3 BFIE
ZF60m W60 | 9.24 | 14| 14-1876 |BiE EF iz | 60 | =K1l | -0.3 |GR EFIE
ZF60m W60 | 10.68 | 2| 13-3014 |EE TETF | & |[64| R | -0.3 BFIE
ZF60m W60 | 11.20 | 3fz| 12-1572 |=& HF |62 FE | -0.3 EFIE
ZF60m W60 | 11.40 | 44| 12-1572 |=F HF 7|62 FE | -0.6 Hefe=
ZF60m W60 | 12.63 | 5fif| 12-1502 |X¥E EHE | & |60| FE | -0.6 Hefo e
ZF60m W60 | 12.91 | 64| 12-1771 |ILK R | 60| FE | -0.6 Hefe=
ZF60m W65 | 10.61 | 1fi7| 12-0350 |+H BBF |69 FE | -0.9 EFIE
ZF60m W65 | 10.70 | 2fiI| 12-0703 |[H E%EF | % |[69| FTE&E | -0.9 BFIE
ZF60m W70 | 12.65 | 1fiI| 12-1269 |HE BF |72 FE | -0.9 EFIE
ZF60m W70 | 12.68 | 24| 12-0995|HE 1BF |72 FE | -1.8 Hefe=
ZF60m W70 | 12.71 | 3fi7| 12-1269 |KFE BF |72 FE | -1.8 Hefo e
ZF60m W75 | 11.60 | 14| 12-0708 ;5% #F |77 FE | -0.9 BFIE
ZF60m W75 | 11.90 | 24i7| 12-0708 |iBEF #F |77 FE | -1.8 Hefo =
Z¥100m W25 | 14.73 | 14| 12-1571 | B8 H=E 7 | 29| FE | -0.6 |GR,NPR | &FiE
ZF100m W35 | 16.32 | 1fi7| 12-1650 |BB)I| RF |39 FE | -1.9 Hefoe=
Z¥100m W40 | 14.81 | 14| 12-1732 ’IF WH'D 7|43 FE | -0.6 EFiE
ZF100m W40 | 14.91 | 241| 12-1732 ’IF WDH'D 7|43 FE | -1.9 Hefo =
Z¥100m W40 | 15.44 | 3fiI| 12-1565 |5H 2 |41 FE | -1.9 Hefoe=y
ZF100m W40 | 15.45 | 44i7| 12-1565 |5HA 2 |42 FE | -0.6 EFIE
Z¥100m W45 | 14.45 | 14| 12-0745 |ithil E=X0F | 2| 48| FE | -0.6 EFIE
ZF100m W45 | 14.59 | 2fif| 12-0745 |ittil =XF | & | 48| FE | -1.9 Hefoe=
Z¥100m W45 | 15.52 | 3fif| 12-1834 |5k HfcF | & |46| FE | -0.6 EFIE




Z¥100m W45 | 16.20 | 47| 12-1573 |FH BF 49| FE | -1.9 Hafie=
ZF100m W50 | 15.14 | 14| 14-1544 |S)I| FEMF | &z | 53 | #F)I | -1.0 BFIE
Z¥100m W50 | 15.35 | 2f7| 12-1495 |%H R |52 FE | -1.2 Hafie=
ZF100m W50 | 15.97 | 21| 12-1573 |&FH BF |50 FE | -1.0 BFIE
Z¥100m W50 | 15.99 | 47| 12-1495 |%EH R | 52| FE | -1.0 EFiE
ZF100m W50 | 16.11 | 54| 12-1237 |18 8% 7|54 FE | -1.0 BFIE
Z¥100m W50 | 16.75 | 6fif| 13-2985 |BAK H®DD |51 BR | -1.2 Hafice=
ZF100m W55 | 15.82 | 14| 22-1124 (Al IEF iz | 58| BA | -1.0 BFIE
Z¥100m W55 | 16.60 | 2fi7| 14-1706 |B&&F FHMF | & | 59 | = | -1.2 Hafe=
ZF100m W55 | 17.69 | 37| 12-1739 |5 =MF | & [ 58| FE | -1.0 BFIE
Z¥100m W55 | 18.03 | 44i7| 12-1717 |[lLAA 1RF 7| 58| FE | -1.2 Hefo e
ZF100m W55 | 18.43 | 5| 12-1739 |5 =MF | & [ 58| FE | -1.2 Hefoe=
Z¥100m W60 | 14.69 | 14| 14-1876 |B#E EF 7 | 60 | #R)II | +0.2 |GR EFIE
ZF100m W60 | 17.24 | 2fi1| 13-3014 |E8 EXT | &L |64| HR | +0.2 BFIE
Z¥100m W60 | 18.29 | 3fif| 13-3107 |EFT At 7|62 ER |+0.2 EFIE
ZF100m W60 | 20.22 | 47| 12-1502 | K ERxE | & |[60| FE | -1.9 Hefoe=
Z¥100m W60 | 20.71 | 54| 12-1771 |l R |60 FE | -1.9 Hefio e
ZF100m W65 | 17.07 | 12| 12-0350 |+ 83 7|69 FE | +0.2 BFIE
Z¥100m W70 | 21.45| 1fiI| 12-0995|&E I1BF |72 FE | -1.9 Hefio e
ZF100m W75 | 18.80 | 1f7| 12-0708 ;5% #F | 77| FE | +0.2 |GR BFIE
ZF100m W75 | 19.53 | 2fiI| 12-0708 |iBE #F |77 FE | -1.9 Hefo e
ZF100m W80 | 26.99 | 1fii| 14-0258 |[EF 7DFH | &2 |84 | MK | -1.9 Hefoe=
ZF100m W85 | 27.85 | 14| 14-0258 |[E%F 72 DH iz | 85 | #K)Il | +0.2 EFE
7F¥200m W40 | 30.74 | 14| 12-1732 ’ZIF WDH'D 7| 43| FE Hefoe=
ZF200m W40 | 31.14 | 24i7| 12-1732 |{IFx »HD |43 FE | -1.7 EFIE
7¥200m W40 | 33.18 | 3fz| 12-1565 |=H BE&E 41| FE Hefoe=
Z¥200m W40 | 33.97 | 44iI| 12-1565 |E5HA 2 |42 FE | -1.7 EFIE
7¥200m W45 | 30.24 | 1f7| 12-0745 (BN E=MF | & [ 48| FE | -1.7 BFIE
ZF200m W50 | 33.06 | 14| 13-3501 |f&fL #&F |54 | BR | -1.7 EFIE
7F¥200m W50 | 33.83 | 2fi7| 12-1237 |1 &% |54 FE | -1.7 BFIE
Z¥200m W50 | 33.96 | 3fif| 12-1237 |12 =& | 54| FE Hefo e
7¥200m W50 | 35.40 | 4f7| 13-3697 |58 #F Z |54 BR | -1.7 BFIE
Z¥200m W55 | 34.11 | 14| 22-1124 |&A)ll EF iz | 58| BA | -1.7 EFIE
7¥200m W55 | 38.18 | 24| 12-1717 [lLA HF 7| 58| FE Hefe=
Z¥200m W55 | 38.32 | 3fi7| 12-1717 |[lLAA RF iz | 58| FE | -1.7 EFIE
7¥200m W60 | 31.71 | 14| 14-1876 |B#E EF iz | 60 | #F)Il | -3.5 |GR BFIE
ZF200m W65 | 39.88 | 14| 12-0703 |[LH E%=F | & |[69| FE | -3.5 EFIE
7¥200m W75 | 44.82 | 14| 12-0708 ;5% #HF | 77| FE | -3.5 |GR BFIE
ZF200m W80 | 60.33 | 1fiI| 14-0258 |MEF 72DH | &z | 84 | HH/| Hefo e
ZF200m W85 | 65.54 | 1fi| 14-0258 |MEF 72D | &2 | 85| MK/ | -3.5 BFIE
ZF400m W45 |1:12.05| 147 12-0745 ;B E501F | &2 | 48| FE BFIE
ZF400m W45 |1:16.83| 24i7| 12-0799 [lLXx BE 7|45 FE EFiE
ZF400m W50 |1:22.52| 14iI| 14-0988 |[/NE #F iz | 53 | I Hefoe=
ZF400m W50 |1:29.25| 24| 12-1237 |18 2% 7|54 FE Hafe=y
ZF400m W55 |1:13.93| 17| 14-1942 |&RA (3dH | & | 57 | /| BFIE
ZF400m W55 |1:19.27| 24iI| 14-1680 |fME #KF 7 | 56 | =R/ EFIE
ZF400m W55 |1:26.26| 3fif| 13-3371 |iElLl B/EF | & | 56| ER EFIE
ZF400m W55 |1:26.43| 44| 12-1717 |[lLA  17F 7| 58| FE EFIE
ZF400m W65 |1:19.93| 14| 12-1168 |BE5T =X | &2 | 65| FE NPR Hefoe=
ZF400m W85 |2:26.97| 14| 14-0258 |[E%F 72D | % | 85 | &/ GR EFIE




Z¥800m W40 |2:42.94| 14| 12-1692 [5iiE #BF |44 FE EFIE
ZF800m W50 |3:06.99| 147 12-0889 |NH BAE | 51| FE Hefo =
Z¥800m W50 |3:10.75| 2{7| 13-3697 |5t #H7F 7|54 BR EFIE
ZF800m W50 |3:30.48| 3f7| 12-0628 |Him BAF | 54| FE BFIE
Z7¥800m W50 |3:35.46| 44| 12-0628 |Him BAF 7|54 FE Hafie=
ZF800m W55 |2:59.69| 17| 14-1942 |&RM (3dH | & | 57 | I BFIE
Z¥800m W55 |3:03.58| 2fiI| 14-1680 |AME #F 7 | 56 | R/ EFIE
ZF800m W55 |3:21.79| 3fi7| 13-3371 |iElL HBEF | & | 56| ER BFIE
Z¥800m W60 |2:50.65| 14| 11-1013 |SHIH EBFY | & |61 | BE EFIE
ZF800m W65 |4:39.42| 14| 12-0711 |KA 348 7|69 FE Hefoe=
ZF800m W70 |4:27.71| 14| 12-0711 |KA 3K |70 FE EFIE
ZF¥1500m W35 |5:51.63| 14| 12-1786 |l BEF | 35| FE BFIE
Z¥1500m W50 |5:56.55| 1fi7| 12-0666 |\l ZEF | &2 | 51| FE EFIE
ZF¥1500m W50 |6:06.13| 24| 12-0666 |/NL FEF | &2 | 51| FE Hefoe=
Z¥1500m W55 |6:18.12| 14| 12-1792 |#xA HEF | &2 |57 | FE EFIE
ZF¥1500m W60 |5:42.60| 14| 11-1013 |SHIH EBEF | &z [ 61| &FE BFIE
ZF¥1500m W75 |7:57.67| 14| 12-0937 |RA 7T 7|76 | FE NPR Hefio e
ZF¥1500m W75 |8:37.18| 24| 12-0937 (A #1F 7|76 FE GR,NPR | i&FiE
Z¥3000m W50 [2:36.42| 1fiI| 12-0666 |/\ML ZFEF | &2 | 51| FE EFIE
Z¥3000m W50 |3:28.11| 24| 12-0889 |NH BAZE | 51| FE BFIE
ZF3000m W60 |1:45.87| 1fi7| 11-1013 |SHIEH EE¥F | & | 61| HE GR EFIE
Z¥3000m W70 |8:58.93| 1f7| 12-0711 |KA 3% |70 FE BFIE
ZF3000m W75 |8:35.29| 14| 12-0937 |EA &% |76 FE GR,NPR EFE
ZF5000m W40 |21:52.97| 14| 12-1692 [;aiE HPF 7|44 FE Hefoe=
Z¥5000m W50 |22:26.52| 1fiI| 12-0666 |/\L ZFEF | &2 | 51| FE Hefo e
ZF5000m W50 |22:56.63| 2{i| 12-0889 [NH BAsE Z |51 FE Ht o=
ZF5000m W65 |33:31.09| 14| 12-0711 |RKHE 34X Z 69| FE Ht s =
ZF5000m W75 |28:15.08| 14i7| 12-0937 |EAX #F 7|76 FE NPR Hefoe=
Z¥5000m W75 |29:01.02| 24iI| 12-0723 |faA  #04% |77 FE Hefo e
ZF3000mW | W65 |18:35.29| 14i7| 20-0063 |&iZ ERF | & | 67| ¥ Hefoe=
ZF3000mW | W65 00:39.43| 24iI| 13-1567 |&E#E FF 7|69 BR EFIE
TF3000mW | W75 |20:13.06| 14| 12-0723 [#aAK #)#% |77 FE Hefe=
TZF3000mW | W75 11:20.56| 24i7| 12-0723 |#aK  #IF% |77 FE EFIE
TF3000mW | W75 |22:55.96| 3fiZ| 12-0700 |JVR & 7|76 | FE Hefe=
ZF3000mW | W75 23:59.30| 44I| 12-0700 |/JVR & |77 FE EFIE
TrESH W30 | 1.60 | 1f7| 14-2178 |8 K2 1z | 30 | #H)I GR BFIE
TFESH W30 1.35 | 2fi7| 12-1710 B =D Z |30 FE GR EFE
TrESH W50 | 1.20 | 17| 14-1003 |#2H &<H | % | 53 | ##z/ Hefe=
TFiEEE W35 | 2.60 | 14| 08-0853 | #0&% | 38| ik Hefo e
TrESH W35 | 2.40 | 2f7| 11-1580 |BH N\&E 7 | 38| &E Hefe=
TrESH W35 | 2.30 | 3fz| 08-0853 | F #IiL 7 | 39| i GR BFIE
T ERHE W25 | 4.58| 1fi7| 12-1571 |BE H= 7|29 FE | +1.7 |GR,NPR | &FiE
T ENRDE W35 | 3.86| 1iI| 12-1747 |AlL £8= | 38| FE | +3.1 |ammrs+1.4)| BRIFES
T ERHE W35 | 3.82| 2fi7| 12-1650 |BR)I| RBF 7| 39| FE | +2.1 |am3mso+o6)| BBIFS
T ENRDE W45 | 3.92 | 1] 12-1325 |k H=E 7|46 FE | +1.7 Hefo =
T ERHE W45 |  3.92 | 2fif| 12-1834 |&Kk HfcF | & |46 FE | +1.6 EFIE
T ENRDE W45 | 3.55| 3fif| 12-1798 |&F EE 7|49 FE | +2.0 EFIE
ZFEMRDL W55 3.97 | 11| 11-0414 |¥E§ BEa—F Z | 55| B\E | +2.3 |amsmos+1.1)| LIRS
T ENRDE W60 | 2.67 | 14| 13-3107 |EFfF At |62 BER | +1.3 EFIE
T ERHE W65 | 2.93| 1fI| 12-0703 |[LH ExEF | & |[69| TE | +1.1 EFIE




TF=ERk W30 | 11.91 | 1fi| 14-2178 |£E KE | 30 | S | +2.7 |amiimsi+0.3) | IEBFHE
T = Bk W55 | 8.49 | 17| 11-0414 | EF iz | 55| #\E | 0.0 Hefo =
TFIIIE W-24| 11.22 | 14| 12-1693 |EtE& MEHR | &2 | 23| FE | 4.0kg [NNR,NPR | iCix=
TR W-24| 10.58 | 2fif| 12-1693 |EtE& MEFHE | L | 24| FE |4.0kg BFIE
TFIAIE W25 | 8.24 | 14| 12-1301 B g | 27| FE |4.0kg EFiE
T W25 | 7.85| 2f1| 12-1301 | FHE | 27| FE |4.0kg Hefo =
TFIAIE W25 | 7.40 | 3fiI| 12-1403 |iB% KREE | & | 26| FE |[4.0kg EFiE
T W40 | 7.96 | 1fiI| 12-1582 |#itd AEF | & |42 | FE |4.0kg Hefo =
LTI W45 | 7.53 | 14| 14-1656 |[f#E  F0K iz | 45 | #=R)Il | 4.0kg EFIE
T W45 |  6.31 | 21| 12-1325 |IRK BH=E 7|46 | FE |4.0kg iRk e
TR W60 | 5.69 | 1fiI| 13-3894 |/Md OBF | &2 | 63| EERE |3.0kg EFIE
TFhaHI W65 | 6.95| 17| 11-1214 (B #F 7 | 68| #HE | 3.0kg Eefo =
LT W25 | 22.62 | 14| 12-1301 |[EA FFE 7 | 27| FE [1.0kg|GR,NPR | &Fi&
ol al:83% W25 | 21.97 | 2fI| 12-1301 | FIE 1z | 27| FE | 1.0kg |[NPR iRk e
LT W30 | 20.52 | 1fi7| 12-1710 [itt &DZF 7| 30| FE |[1.0kg EFIE
ol a8t W40 | 29.92 | 1fif| 12-1582 |#itd AEF | & | 42| FE | 1.0kg iRk s
LT W40 | 25.12 | 2| 12-1582 ¥Rt AZEF | &L |43 | FE |1.0kg EFIE
ol a8t W45 | 25.97 | 14| 14-1483 |iME == iz | 48 | fRJII | 1.0kg BFIE
LT W45 | 20.88 | 2fiI| 14-1656 |[f@  F0K iz | 45 | #=)Il | 1.0kg Hefio e
ol a8t W45 | 20.79 | 3f| 14-1656 |#¥E #0418 2z | 45 | R)Il | 1.0kg BFIE
ZF MRS W55 | 25.42 | 11| 12-1287 |E1E &iT Z |59 FE |1.0kg EFHE
ol aa[:83% W55 | 22.90 | 2fiI| 12-1287 |B1E &iF 7 | 58| FE | 1.0kg Hefoe=
ol a8t W60 | 19.78 | 17| 11-0754 |B& TF iz | 60| #H/E | 1.0kg Hefo e
ol aal:83% W60 | 11.89 | 24| 12-1572 |=@ WF 7| 62| FE |1.0kg Hefoe=
ZF A W60 | 11.65 | 3fi7| 12-1572 |=H# WMF Z 62| FE |1.0kg EFHE
ol aa[:83% W65 | 16.54 | 17| 11-1214 (1B #F 7 | 69| #H\E |1.0kg BFIE
TFIN-1% W-24| 41.77 | 14| 12-1693 |Et& MEZHE | & | 23| FE | 4.0kg [NPR Hefo e
TFIN-1% W-24| 40.71 | 2fi| 12-1693 |St& MER | & | 24| FE |4.0kg|GR,NPR | #EFiE
TFIN-1% W45 | 19.07 | 17| 14-1656 |#¥E #0418 27 | 45 | #=)Il | 4.0kg Hefo e
TFIN-% W55 | 25.49 | 1fi| 12-0781 |&#l &HlFH» | & |57 | FFE |3.0kg BFIE
TFIN-1% W55 | 24.71 | 2fiz| 12-0781 |&#l &HlFH» | & [ 56| FE | 3.0kg Hefo e
TFIN-1% W55 | 24.18 | 3| 12-1287 |B&iE &iT 7 | 58| FE | 3.0kg Hefe=
TFIN-1% W55 | 23.87 | 44iI| 12-1287 |BE45 EiF 2 | 59| FE |3.0kg EFIE
TFIN-1% W55 | 21.07 | 54| 12-0994 | X[ %= 7 | 59| FE |3.0kg Hefe=
TFIN-1% W55 | 20.10 | 64if| 12-0994 |XR %= 2 | 59| FE |3.0kg EFIE
TFIN-1% W60 | 23.78 | 14| 11-0754 |B4 TF 7 | 60| #HE | 3.0kg Hefe=
TFIN-1% W60 | 9.67 | 2fif| 13-3894 |/l OBF | &2 | 63| ER |3.0kg EFIE
TFIN-1% W65 | 19.81 | 1f7| 11-1214 (1B #F | 69| #I\E |3.0kg BFIE
TFIN-1% W65 | 15.85 | 2fi7| 11-1214 |#HE #EF 7 | 68| #HE | 3.0kg Hefo e
TFP D% W25 | 26.92 | 1fi| 12-1403 |iB% KBE | & | 26| FE | 6009 |GR,NPR | EFiE
TFPD% W25 | 22.90 | 2fi7| 12-1571 |B%F Bz 7| 29| FE |600g BFIE
TFPD% W30 | 23.65| 1fiI| 12-1710 [ittl &DF 2 | 30| FE | 6009 EFiE
TFPD% W45 | 27.65 | 14| 14-1483 |ME 3= iz | 48 | /Il | 6009 BFIE
TFPD% W50 | 18.96 | 1fiI| 12-1830 |[lLE #&F iz | 50| FE | 5009 EFiE
ZFD W60 | 14.09 | 14| 12-1572 |=H# IRF Z | 62| FE |500g [NPR EFIE
TFPD% W60 | 14.05 | 24| 12-1572 |=& HWF | 62| FE | 500g |[NPR Hefoe=y
UrE=K W-24| 11.59 | 1£iz| 12-1693 |StF MER | & | 23| FE |9.08kg|NNR,NPR | feif=
UrE=N W-24| 11.22 | 24| 12-1693 |EtE MEZE | &2 | 24| FIE |9.08kg|NNR,GR,NPR| EFIE
UFEEH W25 | 7.34 | 11| 12-1301 | M8 | 27| FE |9.08kg|NNR,GR,NPR | JEFIE
UrE=N W25 | 6.49 | 2fI| 12-1301 | FHE 7| 27| FE [9.08kg Hefoe=y




UFEEH W45 | 7.86 | 1fiI| 14-1656 |[#@ K iz | 45 | )11 [9.08kg Hafie=
UrE=SK W55 | 9.27 | 1fiz| 12-0781 |&#l HlFH | Z |56 | FE |7.26kg Hefo =
UFEEH W55 | 9.26 | 21| 12-1287 |BiE &iT 7 | 59| FE [7.26kg|GR EFIE
UrESK W55 | 8.88 | 3fiI| 12-1287 |BE15 &iF 7 | 58| FE |[7.26kg Hefo =
UFEEH W55 | 8.26 | 4fiz| 12-0781 |&#l H»lFH» | L2 |57 | FE |7.26kg EFiE
UrE=SK W55 | 7.45 | 57| 12-0994 | X[ %= 7 | 59| FE [7.26kg Hefo =
UFEEH W55 | 6.48 | 6fif| 12-0994 |XR %= 7 | 59| FE [7.26kg EFiE
UrESK W60 | 9.96 | 14| 11-0754 |B& TF 7 | 60| #/E |[5.45kg Hefo =
TFESH W65 | 8.66 | 17| 11-1214 (B #7F 7 | 69| #\E |5.45kg EFHE
UrE= W65 | 8.52 | 2f1| 11-1214 (B #F 7 | 68| #\E |5.45kg Hefoe=




